Number of Events

6j1ph MadGraph
B ph_j_ 200 inf: 35.7%
I oh_j 100 200 : 64.3%
30/~
20/
101
i | l
: BER
| T R S Al i R R S R R R R T A R
0 100 200 300 400

y p_(GeV)



Number of Events

15

10

6)1ph MadGraph
- oh_j 200 inf: 35.7%
] oh j 100 200 : 64.3%
| Ry
‘ ] |—|-'_| ] | !—| ‘ I‘ l ]

2



6] 1ph e MadGraph

=
o
[ [ [ [ | [ [ [ [ | [ [ [ [ |

Number of Events

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

AR(y,)1)



Number of Events

=
o

[ lo

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

RRRES!
L1

1 >

Aq(y,j1) (radians)



Number of Events

=
o1

=
o

O1

O

6j1ph MadGraph

| ph_j 200 inf: 35.7%
I ph_j_100_200 : 64.3%
i SRR

| N
0 4



Number of Events

=
o

MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%
|

1 2 3
AQ(1,)2) (radians)



Number of Events

6j1ph MadGraph
B ph_j_ 200 inf: 35.7%
I oh_j 100 200 : 64.3%
15[
10~
5 | --
RN o
l y ARRSRA
| | || | | | |
0 2 4

AR(j1,2)



Number of Events

6] 1ph o MadGraph
ph_j_ 200 inf: 35.7%
10~
} ph_j_ 100 200 : 64.3%
5t 1
O =1 1 —t EIE |

AR(j5,i6)

A



Number of Events

6j1ph MadGraph

u | ph_j 200 inf: 35.7%
15 ph_j 100 200 : 64.3%
10_—
o

l |

_ o
0 N N o N SN PR O N O B 1

50 100 150

j3p_(GeV)



Number of Events

=
O1

=
o

6j1ph MadGraph
= ph_j_ 200 inf: 35.7%
B ph_j 100 200 : 64.3%
I [l A SR
A R I M | B | | |
100 200



Number of Events

6J1ph e MadGraph
ph_j_ 200 inf: 35.7%
h_j 100 200 : 64.3%
10— ph_j_ 100 200 : 64.3%
S5t |
| e .|- |
O |



Number of Events

=
o

e MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




Number of Events

10

6j1ph

e MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




Number of Events

=
o

MadGraph

| ‘ o |

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%
|

¥
|

1 2 3
A@(1,]3) (radians)



Number of Events

6J1ph e MadGraph
i ph_j_ 200 inf: 35.7%
B ph_j 100 200 : 64.3%
10— !
5
O t—| 4|- | —



Number of Events

6]1ph e MadGraph
I ph_j 200 inf: 35.7%
10 _— ph_j 100 200 : 64.3%
S5 . Ll
0 | - i | |
0 1 2 3

A@(1,/6) (radians)



Number of Events

=
o

6j1ph e MadGraph
ph_j_ 200 inf: 35.7%
| ph_j 100 200 : 64.3%
| | — | 1 | ———t— —t | .—|—| |

2

A
AR(j3,j6)



Number of Events

=
o

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

AR(j3,]

O1

g

)



Number of Events

6j1ph MadGraph
B ph_j_ 200 inf: 35.7%
15— ph_j 100 200 : 64.3%
10_—
o
I Ll Ul
O I || || || | |
6



Number of Events

20

=
o

6)1ph MadGraph
i ph_j_ 200 _inf: 35.7%
: ph_j_100_200 : 64.3%
| S
| \ o j ‘ l ° °
—T['%' S ST T T? B J ! |+| |J |%| |%J lTT+
10 20 30 40

M(j2) (GeV)



Number of Events

=
o

MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

|....!'.‘_L.'.'|=.

1 2 3
A@(4,)5) (radians)



Number of Events

6j 1ph e MadGraph
ph_j_ 200 inf: 35.7%
10—
] ph_j 100 200 : 64.3%

| :

5 — [ ] ® °
O | — | o — I | | i I L — | |
0 1 2 3

Aq(y,j4) (radians)



Number of Events

=
o

6j1ph MadGraph
N ph_j 200 inf: 35.7%
: ph_j 100 200 : 64.3%
] ] NERENSE Y
L SN I RN I I P
4



Number of Events

10

6j1ph

e MadGraph

ph_j_ 200 inf: 35.7%

ph_j 100 200 : 64.3%
|

| | | | | I l

1 2 )
AQ(j2,|5) (radians)



Number of Events

20

=
o

e MadGraph

ph_j_ 200 inf: 35.7%

ph_j 100 200 : 64.3%




Number of Events

=
o

e MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%
|

| | | | L | | I e |I=||

1 2 3
A@(]5,]6) (radians)



Number of Events

6]1ph e MadGraph
B ph_j_ 200 inf: 35.7%
] ph_j 100 200 : 64.3%
|
10— |
5_ ° e o ® e o
O | | | ——1 | | | ||—-—i—.|
0 1 2 3

AQ(1,j4) (radians)



Number of Events

=
O1

=
o

6)1ph MadGraph

i oh_j 200 inf: 35.7%

B ph_j 100 200 : 64.3%

% " S 2 1]

L ] l l h RN
10 20 30

M(j3) (GeV)



Number of Events

=
o

MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%
|

S
al l

| | :.fﬁ.‘..

1 2 3
A@(3,]6) (radians)



Number of Events

15

=
o

6j1ph MadGraph

B ph_j_ 200 inf: 35.7%
: ph_j 100 200 : 64.3%
] [ [ 1T ]
LT L . ‘| M‘l\

10
minMass(j) (GeV)



Number of Events

=
O1

=
o

6j1ph MadGraph
] ph_j 200 inf: 35.7%
I ph_j 100 200 : 64.3%
11! | 1)
|| . — I

6



Number of Events

=
o

6)1ph MadGraph

i ph_j 200 inf: 35.7%

__ ph_j 100 200 : 64.3%
| _

} “ " | | _ L | | |

0 1 2 3

Aq@(y,]6) (radians)



Number of Events

10

6j1ph

X

‘ |

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

—@—

0

]2 @ (radians)



Number of Events

10

MadGraph
ph_j_ 200 inf: 35.7%

ph_j 100 200 : 64.3%




Number of Events

10

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




Number of Events

10

6j1ph

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

Y ¢ (radians)

e L .
-2 0 2



Number of Events

10

6j1ph

i

MadGraph
ph_j_ 200 inf: 35.7%

ph_j 100 200 : 64.3%

-2

|6 eta



Number of Events

10

6j1ph

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




Number of Events

=
o

6j1ph MadGraph
B ph_j_200_inf: 35.7%
: ph_j_100_200 : 64.3%
: l | ] l o o l l l
L . 1

A

AR(j1,j6)



Number of Events

=
o

MadGraph

ph_j_ 200 inf: 35.7%

ph_j 100 200 : 64.3%

10 15 20 25

P (GeV)



Number of Events

=
o

6j1ph e MadGraph

1l

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

P D S PR RV
5 10 15 20 25
clusteredObjectsRecoll p. (GeV)



Number of Events

20

=
o

6j1ph MadGraph
i ph_j_ 200 inf: 35.7%
) ph_j 100 200 : 64.3%
: 3
i Lt |

U ThaeTE T e

50 100

14 p_ (GeV)



Number of Events

=
o

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

 —

| 5 | L — 1|O L
M(5) (GeV)

15 20



Number of Events

=
O1

=
o

6j1ph MadGraph
- ph_j 200 inf: 35.7%
- ph_j_100 200 : 64.3%
: o \ L l [T ] l
— A A

100

200 300 400

i1p_(GeV)



Number of Events

6j1ph e MadGraph

= ph_j_ 200 inf: 35.7%
3 :— ph_j 100 200 : 64.3%
6 Toe
4 _— ° ° ¢ ° o ®
2 i_ ° ® °

|_ | ' | — 1] | | ' ! l—
% 1 > 3

AQ(j2,j4) (radians)



Number of Events

10

6j1ph

L

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

2

AqQ(y,]5) (radians)



Number of Events

15

=
o

O

6j1ph MadGraph

B oh_j 200 inf: 35.7%
I ph_j_100_200 : 64.3%
1 RN

i Attt

0 4 6



Number of Events

=
o

e MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

Aq@(y,]3) (radians)



Number of Events

6j1ph e MadGraph
10 L ph_j_200_inf . 35.7%
: ph_j_100 200 : 64.3%
|
5 — * [ ° ¢
O | | ———t+— | i e | ElE. JE | = | | E|E—| |
0 1 2 3

A@(4,)6) (radians)



Number of Events

10

6]1ph e MadGraph
B ph_j_ 200 inf: 35.7%
} ph_j 100 200 : 64.3%
| _
] — N N ERE N
0 1 2 3

AQ(j3,j4) (radians)



Number of Events

6)1ph MadGraph
15+ ph_j 200 inf: 35.7%
] oh j 100 200 : 64.3%
10—
5 I
i 1] | ] |
O | ' ‘ —t h ‘I ‘




Number of Events

10

6j1ph

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

16 @ (radians)



Number of Events

15

10

6)1ph MadGraph
- oh_j 200 inf: 35.7%
] oh j 100 200 : 64.3%
] | L

| | ‘ | | ,=|=| |

-4 -2 0 2



Number of Events

15

10

6)1ph MadGraph
- oh_j 200 inf: 35.7%
] oh j 100 200 : 64.3%
] | L

| | ‘ | | ,=|=| |

-4 -2 0 2



Number of Events

=
o

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




Number of Events

10

6j1ph

MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

| | —_—

0
]4 ¢ (radians)



6] 1ph e MadGraph

=
o

Number of Events

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

_
L o
l — e
L o

|

o
)



Number of Events

10

6j1ph MadGraph

= ph_j_ 200 inf: 35.7%

] ph_j_100 200 : 64.3%

L] DLl
] L L]

AR(j1,j3)

A



Number of Events

=
o

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




Number of Events

10

6j1ph e MadGraph
i ph_j_ 200 inf: 35.7%
B ph_j 100 200 : 64.3%
RIS '
| . | L
-2 0 2



Number of Events

10

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

=
o

Number of Events

o



Number of Events

=
o

MadGraph

ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

| ] — 1 I‘

]
n

1

.

AQ(1,)5) (radians)



Number of Events

10

6j1ph e MadGraph
N ph_j 200 inf: 35.7%
: ph_j 100 200 : 64.3%
L . L | .
- 2 0 2



Number of Events

10

————
I

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




Number of Events

30

20

=
o

6j1ph

N

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

T T
o o °
[ [ |

—
_._|
—@—

N
ol

30 35

6 p_(GeV)



Number of Events

=
o

6j1ph

|

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

1] ]
|

-

1

AqQ(y,]2) (radians)



Number of Events

N
o

=
o1

=
o

6)1ph MadGraph
i ph_j_200_inf: 35.7%
- ph_j_100_200 : 64.3%
- .
; } [ [ ]
l D VRS S S

20 40 60

M(j1) (GeV)



Number of Events

6j1ph e MadGraph
B ph_j 200 inf: 35.7%
: ph_j 100 200 : 64.3%
10— T
5 — ° o ® o ®
111 L] o
I‘ | ‘ ‘I | | B ‘ |
04 2 0 2 4



Number of Events

6)1ph MadGraph
B ph_j 200 inf: 35.7%
: ph_j 100 200 : 64.3%
10—
5
1111 |
O”‘I“I | | | B |‘|
-4 -2 0 2 4



Number of Events

10

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%




Number of Events

10

6j1ph e MadGraph
i ph_j_ 200 inf: 35.7%
B ph_j 100 200 : 64.3%
| ] 4
2



Number of Events

6j1ph e MadGraph
10 L ph_j_200_inf . 35.7%
} ph_j 100 200 : 64.3%
|
5 — o O [
O I —t | | | - “' I- L , L |
0 1 2 3

A@(3,]5) (radians)



Number of Events

10

MadGraph
ph_j_ 200 inf: 35.7%

ph_j 100 200 : 64.3%

S
5 10

M(6) (GeV)

15



Number of Events

10

6J1ph e MadGraph
i ph_j_ 200 inf: 35.7%
B ph_j_100_200 : 64.3%
|
] ] ]
-2 0 2

15 @ (radians)



Number of Events

15

=
o

6j1ph MadGraph

- ph_j 200 inf: 35.7%

- ph_j 100 200 : 64.3%

i H[ | . [

- L, Lt
20

M(j4) (GeV)



Number of Events

10

6j1ph

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

| El —t — | IE |

-2 0
j1o@(radians)



Number of Events

6j 1ph e MadGraph

B ph_j_ 200 inf: 35.7%
3 ph_j 100 200 : 64.3%

i . BRE |
6 | ¢
4 _— ° ° ° “ °
2 _— I e ° ¢
O_| — | | ' | — |

0 1 2 3

AQ(2,]3) (radians)



Number of Events

6j1ph e MadGraph

B ph_j_ 200 inf: 35.7%
8 ph_j_100_200 : 64.3%
6__ e | e
4__ ¢ 1 ¢ ® o o e o !
2_— [ ] [ )

N I N
0% 1 2 3

AQ(2,]6) (radians)



Number of Events

6j1ph MadGraph
- ph_j_ 200 inf: 35.7%
B h j 100 200 : 64.3%
15__ ph_J_100_
10+
5
: N l ‘ l ‘ [ ] ]
O_.l..,.|.= . |nj.-.J.-|TT. T o1
400 600 800 1000

sumPt (GeV)



Number of Events

10

MadGraph
ph_j_ 200 inf: 35.7%

ph_j 100 200 : 64.3%

AR(j2,i6)



Number of Events

10

6j1ph

MadGraph
ph_j_ 200 inf: 35.7%

ph_j_ 100 200 : 64.3%

|3 ¢ (radians)



Number of Events

6j1ph MadGraph
i ph_j_ 200 inf: 35.7%
- ph_j 100 200 : 64.3%
100
50~
O_ | | | | | | I Sy | | | | | |
-1 -0.5 0 0.5 1

uncl P (GeV)



